Christina Alsharqawi grade 7 H
Question 1: Evidence 1
FruitList=[]
i=input("which elemment do you want to print?")
i=int(i)
print(goals[i])
Fruitlist.append("apple")
print(Fruitlist)
Question2: Evidence 2
VegetableList=[]
for i in range(10):
vegetable=input("Enter a vegetable")
VegetableList.append(vegetable)
print(VegetableList)
Question 3: Evidence 3
Length=len(cities)
print(cities)
cites.append("London")
print(cities)
cities[1]="Dubai"
print(cities)
del cities[3]
print(cities)
print(cities[2])
print(cities[3])
length=len(Amman)
print length
print(cities)
Question 3: Evidence 4
Because the index is not found, the index are numbered from 0 to 3 so there is no 7 in the list 


